
Worksheet 1/15/2025

1. Determine if each of the following matrices is in reduced row echelon form (RREF) or not.

(a) 1 2 3
0 1 0
0 0 1


(b) 1 2 3

0 0 1
0 0 0


(c) 1 −1 0

0 0 1
0 0 1


(d) 

1 0 0 1
0 2 0 0
0 0 1 0
0 0 0 0


(e) 0 0 1

0 1 0
0 0 0



(f) 
0 0 0
0 0 0
0 1 0
0 0 0


(g) 0 0 0 0

0 0 1 2
0 0 0 0


(h) 

0 0 0
0 0 0
0 0 0
0 0 1


(i) 0 0 0 0

0 0 0 0
0 0 0 1


(j) 0 0 0 0

0 0 0 0
0 0 0 0


2. Use elementary row operations to transform the following matrix into an RREF

A =

2 4 1 0
3 0 1 2
1 −4 0 1



1



3. Solve the following system 
x+ 2y + 3z = 7

x− z = −3
2x+ 3y + z = 3
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